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The X position of the left pecking key is: 2cm
The Y position of the left pecking key is: Scm
The X position of the right pecking key is: 16cm
The Y position of the right pecking key is Scm

The last entry defines the width and height of the pecking keys respectively the width

[ ]
and the height of the stimulus itself. All values have to be entered in relative size.
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The width of the left stimulus is: 4cm
The height of the left stimulus is: 4cm
The width of the right stimulus is: 4cm
The height of the right stimulus is: 4cm



